Laskuharjoitus/problem set 9.
Populaatiorakenne, geenivirta 1/population structure, gene flow 1.
50. Ruotsalaisessa Arabidopsis lyrata populaatiossa Gpi-2 lokuksessa on kaksi alleelia frekvensseillä 0.92 ja 0.08, Karjalan Karhumäessä samojen alleelien frekvenssit ovat 0.6 ja 0.4. Oleta, että kummassakin populaatiossa on H-W frekvenssit. Arvio erilaistuminen, siis FST.

In a Swedish population of Arabidopsis lyrata there are two alleles with frequencies 0.92 and 0.08 in the Gpi-2 locus. In Karhumäki, Russia, the frequencies of these alleles are 0.6 and 0.4. Assume H-W equilibrium for each population. Estimate the degree of differentiation, i.e. FST.

49. Arabidopsis thalianan populaatioissa Naantalissa ja Tvärminnessä havaittiin seuraavat mikrosatelliittigenotyyppifrekvenssit 100 yksilön näytteessä.

In the Naantali (N=100) and Tvärminne populations (N=100) of Arabidopsis thaliana microsatellite genotype frequencies were

123/123
123/126
126/126

Naantali
0.69
0.02
0.29

Tvärminne
0.04
0.02
0.94

Laske tunnusluvut FIT, FIS ja FST. Arvioi tuloksiasi lajin lisääntymisbiologian valossa.

Calculate FIT, FIS and FST. Evaluate the results based on the reproductive biology of the species.

48. Tarkastele tilannetta, jossa saaren kasvipopulaatioon tulee kussakin sukupolvessa mantereelta 
a) 10 % uusista siemenistä, 
b) 20 % hedelmöitykseen osallistuvasta siitepölystä. Tarkastelet lokusta A, jossa mannerpopulaatiossa alleelin A1 frekvenssi on 0.6 (A2 0.4), alkutilanteessa saarella 0.3 (A2 0.7). Laske noissa kahdessa tilanteessa seuraavan saarisukupolven 1) alleelifrekvenssit 2) genotyyppifrekvenssit, 3) FIS.

Consider a situation where an island population receives in each generation from the continent 

a) 10 % of the new seeds

b) 20 % of the pollen grains (that participate in fertilization)

Consider a locus A where the continent has frequencies A1 0.6 and A2 0.4, in the island 0.3 and 0.7 initially. Estimate for a) and b) the 1) allele frequencies 2) genotypic frequencies and 3) FIS in the next island generation.

Simulation: download the simulation program Migration4.exe from the course web site (or use it in the computer class, you’ll find it in S:\3BIOL\ folder). The simulation is based on the one-dimensional stepping stone model.
Simulate the effect of migration rate on genetic differentiation in subpopulations of size 100 starting with allele frequency p0=0.5. Try three different migration rates: m=0, 0.01 and 0.1 and repeat each simulation a couple of times. What kind of mean p, subpopulation allele frequencies and Fst did you observe after 100 generations? The bars of the lower left corner show the final allele frequencies in the ten subpopulations. 
50. 0.1400

49. 0.9573, 0.9223, 0.4507
48. a) 0.67,  0.33, 0.117, 0.426, 0.457, 0.036

48. b) 0.67, 0.33, 0.108, 0.444, 0.448, -0.005
